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1E * 4 i 2,781,232

1T A 3 4 i 1,474,030
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6% *= 44 I = 3,559
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= i = ¥ T %8
1/ EXEHA 3,730,060
1E ES & F 3,104,141
148 5 & 1,965,389

2 ¥ # = 342,040

3 #% & 529,630

4@ M & ! & 253,542

5& E B # # 6,175

68F X M & & 7,365

2E %X SN & A 96,741
1 TLFERUEEERIEEE 41,744
2EENBEMHE 100
SHERMRUMAHEER 10,130

4 3 # % 34,847

5 REIRTHIEERENEEH 9,920

3NEEZAREERER 525,916
1 # 5 & 388,834

2 ¥ # = 13,451

3 #% & 105,328

4% M@ B #H O F 16,224

6FF X M & & 454

7 XUFHBRUEEREHE 1614

8% % 4N # A 10

4 % ] & 3,262
1% i & 3,262
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